o= aEER HER

(A (B)

© fEHEORER

15 | HERIENSZELSIVWTVWSIRIRFTSHER

25 | FaRIENSELSIVTVSHSHHER

35 |fEaRENMELSIVTVSHARIRBIZDER

@ EMBUNESF 7 6%
B 1IACTEDDZERILER TNBZ ZORIRERT I HEER

(100,000 FH+45,000 FHx4&1%2—(CF 2% EE0)

_ {® - (1E+28+35+4508%H) + x0.2
XABU (4 BNEEEX2) OEEEEREELT 3,

At |15+25+35+45+5508%8

@ Z=# (uge) &8 (O - OMOGETERR)

*x 45 JHEINECOVT 100,000 AEEETZ—ICTHEREM I 1 ACDF 45,000 HZHIEUEEER,
*x OIaRIFORARRE, FRRBOIRERITINIETET,
* QEIREILZAD. 12 - 3 - 5 5FFHAKRBOmEIVINLITEI.



